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7. If the currency-lo-depusit rativ is 0.4, the reserve-to-deposit ratio 1s 0.1, and the amount of
currency in circulation 1s $440 billion, then the money supply is and the money multiplier is

a)  §1.470 bablion, 3.
by $1540 billion; 2.8,
¢} $2,000 hillion; 3
dy  F1500 hillion; 2.5
el %1450 ballion; 2.5,

§.  Suppose the consumption function was equal to C =2 + 0.7 (Y - T}, where ¥ is real GDP and T
is tax revenue. 1f taxes were to decrease by 310 billion, and government purchases were to
also decrease by 310 billion, what would happen (o the aggregate expenditure line'

a) The aggregate expenditure line would not change.,

b) The agprepate expenditure line would shift down by §2() billion.

¢} The apgprepate expendituce line would shift down by 571 billion.

dy  The aggregate expenditure line would shift up by 5201 hallion.

e) The aggrepate expenditure line would shift up by 33 billion,

9. According to the Ricardian cquivalence proposition

a) anincrease in the hudget deficit due to a tax decrease will cause an increase in the trade deficil.

by an increasc in the budget deficil due to a tax decrease will lower private savings.

¢) anincreasc in the budget deficit due 1o a tax decrease will cause a decrease in the rade deficit.

d}  atax decrcase that causes o decrease in government savings (that is, an increase in the budget
deficit) will resuit in an increase in private savings by an equal amount.

¢1  an increase in the budget deficit due to a tax decrease will increase national savings.

10, You observe that the quantity sold of VCRs over the last 3 years has increased bul Lhat price
has remained roughly constant,  The best explanation for this is;

a)  Production technalogy has remained roughly constant.  The popularity of VCRs has increased.

L) Manulacturing costs have risen and more and more consumers think VCRs are valy for
mindless jerks.

) The price of lelovision has risen and the popularity of VCRs has increased,

d} The eost of video tape rentals has fallen and consumer tastes have renained unchanged.

e} VOR manufacturing costs have decreased and the pupularity of VCHRs has increased.
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5. The firm diagram below illustrates the cost curves of all firms in a perfectly competitive

industry. Suppose there are currently 100 firms in the industry. Assume the long-run
supply curve is perfectly elastic.
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The equilibrium price in the short-run is . In order to achieve long-run equilihrium,
~ Drmsmust______ the industry. '

a) F3, 25, enter.

by B4, 530, enter,

c) S5, S0, exit

d) §a, 30, exit.

ey 87,45, exit.

6. Suppose banks desire to keep 5% of their deposits on reserve.  If the central hank
purchases $20 million worth of government bonds from Bank ABC, then the amount of
bunds and loans Bank ABC holds will __ ; the amount of reserves Bank ABC
desires (o hold will

a) increase by $20 million; not change.

by increase by $100 million; increase by $1 million.

¢} increase by $15 million; increase by $1 million.

d}  decrease by 320 million; decrease by $20 million.

e} decrease by 515 mullion; increase by 320 million.
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3. SHNOWMORILES HOCKEY STICKS
(5 S0 200
CANADA &0 300

The numbers in the above table represent the amounis of each good which each country can

produce every day.

Which of the following is tbrue?

) Canada has an absolute advantage in both goads; the 1S has the comparative advantage
in snowmobiles, while Canada has the comparative advantage in hockey sticks.

by The US has an absolute advantage in both goods and Canada has comparative advantage
in both guods.

¢} The US has the ahsalute advantage in snowmobiles, while Canada has the abzolute
advantape in hockey sticks.

d) Meither country has any absolute advaniage and neither country has any comparative
advantage.

e} The US has the absolute advantage in snowmobiles, while Canada has the comparative

alvantage in snowmabiles.

4. Mike buys two goods, brats and burgers. The prive of brats is 31; the price of burgers ia
%2,  Mike's preferences are shown below.

Burgers
5 ?\
RS

LT |
| T
I
i Bm
& | 0 4

Refer to the picture above, Mike's income is . I Mike had 3 hurgera and 4 brats

instead of 2 burgers and 6 brats, his marginal rale u[’ substitution nf hrats for burgers (at [4, 3])
wonld bhe

a) $20; less thﬂl‘l /2.

by $10; more than 1/2.

¢)  §10; more than 2.

dy  $20; less than 2.

el $10; less than 1/2.
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The demand for radios is measured by Qp, =60 — {1/2)P, and the supply of radios is
measured by Q; = (W2)F — 10,  Assume that the radio market is perfectly competitive,
The: equilibrivm price of radio iy __and the equilibrium quantity is

Buppose now that the government sets a price ceilling of 340, This will cause
$70, 25, a shortage of 3 radios

70, 25, the price and quantity of radios not change
%50, 40, a shortage of 30 radios.

$30, 80; a surplus of 50 radios.

$30, 80; the price and quantity of radios not change.

The following graph depicts the demand and cost curves for a single-price monopolist,
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The monopolist will produce _umits and charge per unit.  Her profif is

)
b)
¢}
d)
&)

240, 812, $0.
160, $16, £320.
120, $18, $2160.
160, $14, $300
320, %8, —$1280,
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TREE 1 8k
Qmith Imparts has a % 404 petty cash fund, which is kept by Wayne Brody,
When Wayne fails o report fur work for several days, the company invesligates.
wayne's landlady reports that he has vacated his apartment and left no
farwarding address. Kay Mitchell, Smith’s cantrolier, notices that the petty
cash Tund has not heen replenished or audited iy geveral months, She assigns
won the task of auditing the peily cash box,  When you 0pen the small metal box,

L

on find the following items,

H L8

A receipt for Dew printer ribbons purchased from Central Compule Supplier

for % 40.50, '

b, Tnvoices ahowing cash purchases of merchandise Trom Agian Exports Co.
Wayne Brody's signature & on the invoices as the recipient of the poods,
I he invoices total § 2.700.

¢ Sales invoices totaling g 29916, W. Brody i3 listed as the salesperson an
cuch irvoice,  All of these were 4 sh sales.

4 Several receipts for postaye stamps otaling $ 120

e Curency and coin in the amoennt of § 7.50.

[equired -

| Write a memorandum 1o Kay Mitchell explaining the ways in which Wayne
misused the petty cash fund.  Your memo should also vontain
recommendations for new procedures to enaure that the next petty cashice
does nol steal from the petty cash fund.

o

Prepare a scheduale o be attached w your Memoe which shows a calculation
of the amount of cash that should be in the peny cash fund and the amount
stolen by Wayne Brody.

1 Prepare the general journal entry that would be required to record all of the

teme in he petty cash box to replenish the fund on May 16, 1998,
B ool i KT R
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